

# Some Results on Hypercircle Inequality for Partially Corrupted Data via Orthonormal Set

Running head : Hypercircle inequality via orthonormal set

Tanyong Kraiwiradechachai<sup>1</sup> and Kannika Khompurngson<sup>2\*</sup>

*<sup>1</sup>School of Mathematics, Faculty of Science,  
Naressuan University, Pisanulok, Thailand.*

*Email : tanyongk@nu.ac.th*

*<sup>2</sup>Division of Mathematics, School of Science, University of Phayao,  
Phayao, Thailand.*

*Email : [Kannika.kh@up.ac.th](mailto:Kannika.kh@up.ac.th)\*Corresponding author*

## Abstract

In this paper, we briefly review the material on hypercircle inequality for partially corrupted data and its potential for learning problem in reproducing kernel Hilbert space. The aim of this paper is to present the transformation of its material to orthonormal bases. Specifically, our recent results lead us to improve the important results on this subject which is useful for practical.

**Keywords:** Hypercircle inequality, Convex optimization, Reproducing kernel Hilbert space

## Introduction and Preliminaries

25 The basic concept of learning problem is to find the function representation from  
 26 given data. The hypercircle method, which is a well-known method in mathematical  
 27 physics, has been applied to kernel-base machine learning. Unfortunately, this method is  
 28 not well adapted to circumstances in which there are known data errors. In 2015,  
 29 Khompurngson K. and Novaprateep B. was extend the hypercircle inequality to  
 30 circumstances in which there are known both accurate and inaccurate data. Moreover, its  
 31 potential for learning problem in reproducing kernel Hilbert space was presented. In this  
 32 paper, we continue study this subject by presenting the transformation of its material to  
 33 orthonormal bases. Specifically, our recent results lead us to improve the important results  
 34 on this subject which is useful for practical.

35 Let  $H$  be Hilbert space over the real number with inner product  $\langle \cdot, \cdot \rangle$  and  
 36  $X = \{x_j : j \in \mathbb{N}_n\}$  be a set of *linearly independent* vectors in  $H$  where we denote  
 37  $\mathbb{N}_n = \{1, 2, \dots, n\}$ . For any  $d \in \mathbb{R}^n$ ,  $H(d) := \{x : \|x\| \leq 1, Q(x) = d\}$  is called *hypercircle*  
 38 where  $Q : H \rightarrow \mathbb{R}^n$  is a linear operator  $H$  onto  $\mathbb{R}^n$  as

$$Qx = \left( \langle x, x_j \rangle : j \in \mathbb{N}_n \right).$$

$$(1.1)$$

41 Consequently, the adjoint map  $Q^T : \mathbb{R}^n \rightarrow H$  is given at  $a = (a_j : j \in \mathbb{N}_n) \in \mathbb{R}^n$  as

$$Q^T(a) = \sum_{i \in \mathbb{N}_n} a_i x_i.$$

43 The Gram matrix of the vectors in  $X$  is  $G_X = QQ^T = \left( \langle x_j, x_l \rangle : j, l \in \mathbb{N}_n \right)$  a symmetric and  
 44 positive definite matrix. It is well-known that there exist a unique vector  $x(d) \in M$  such  
 45 that

$$x(d) := \arg \min \{ \|x\| : x \in H, Q(x) = d \}, \quad (1.2)$$

47 where  $M$  is the  $n$ -dimensional subspace of  $H$  spanned by the vectors in  $X$ , see

48 Khompurngson and Micchelli (2011). Moreover, the vector

49 
$$x(d) := Q^T(G_X^{-1}d) \quad \text{and} \quad \|x(d)\|^2 = (d, G_X^{-1}d),$$

50 See Davis (1975). Let the vectors in  $X$  be orthonormalized according to the Gram-

51 Schmidt process yielding  $x_1^*, \dots, x_n^*$ . Let  $M^*$  be the  $n$ -dimensional subspace of  $H$

52 spanned by the vectors  $x_1^*, \dots, x_n^*$ ; see [3]. Consequently, the Gram matrix for  $x_1^*, \dots, x_n^*$  is

53 the identity matrix. For any  $x \in H(d)$ , the condition

54 
$$Qx = d \quad \text{is equivalent to} \quad Rx = d^*$$

55 where  $R : H \rightarrow \mathbb{R}^n$  is a linear operator  $H$  onto  $\mathbb{R}^n$  as  $R(x) = (\langle x, x_j^* \rangle : j \in \mathbb{N}_n)$

56 and  $d_1^* = \frac{d_1}{\sqrt{|G(x_1)|}}$

57 
$$d_k^* = \frac{1}{\sqrt{|G(x_1, \dots, x_{k-1})| |G(x_1, \dots, x_k)|}} \begin{bmatrix} \langle x_1, x_1 \rangle & \langle x_2, x_1 \rangle & \dots & \langle x_k, x_1 \rangle \\ \vdots & \vdots & \dots & \vdots \\ \langle x_1, x_{k-1} \rangle & \langle x_2, x_{k-1} \rangle & \dots & \langle x_k, x_{k-1} \rangle \\ d_1 & d_2 & \dots & d_k \end{bmatrix}, k = 2, \dots, n$$

58 (1.3)

59 Therefore, we represent the coefficients of  $d_k^*$  for all  $k = 1, \dots, n$  by the following matrix

60 
$$A = \begin{bmatrix} \beta_{11} & 0 & 0 & \dots & 0 \\ \beta_{21} & \beta_{22} & 0 & \dots & 0 \\ \vdots & & & & \vdots \\ \beta_{n1} & \beta_{n2} & \beta_{n3} & \dots & \beta_{nm} \end{bmatrix}.$$

61 Hence, we point out that  $H(d) = H^*(d^*)$  where  $H^*(d^*) = \{x \in H : \|x\| \leq 1, Rx = d^*\}$  and

62 the vector  $x(d) = x(d^*) := R^T d^*$  where the adjoint map  $R^T$  is given by for each

63  $a \in \mathbb{R}^n$   $R^T(x) = \sum_{j=1}^n a_j x_j^*$ . In this case, the classical *hypercircle inequality* state as

64 follows:

65 **Theorem 1.1.** If  $x \in H^*(d^*)$  and  $x_0 \in H$  then

$$66 \quad \left| \langle x(d^*), x_0 \rangle - \langle x, x_0 \rangle \right| \leq \text{dist}(x_0, M^*) \sqrt{1 - (d^*, d^*)} .$$

67 (1.3)

68 where  $\text{dist}(x_0, M^*) := \min\{\|x_0 - y\| : y \in M^*\} = \sqrt{|G(x_1^*, \dots, x_n^*, x_0)|}$ .

69 Moreover, there is an  $x_{\pm}(d^*) \in H^*(d^*)$  for which equality above holds and the vector

70  $x_{\pm}(d^*)$  is given by

$$71 \quad x_{\pm}(d^*) = \pm \frac{x_0 - R^T a_{\pm}}{\|x_0 - R^T a_{\pm}\|}$$

72 (1.4)

73 and the vector  $a_{\pm} \in \mathbb{R}^n$  is given by the formula

$$74 \quad a_{\pm} := R x_0 \mp \frac{\text{dist}(x_0, M^*)}{\sqrt{1 - (d^*, d^*)}} d^* .$$

75 (1.5)

76 Recently, an extension of hypercircle inequality to *partially - corrupted* data was

77 proposed by Kannika Khompurngson and Boriboon Novaprteep, see Khompurngson

78 and novaprteep (2015). We start with  $I \subseteq \mathbb{N}_n$  which contains  $m$  elements ( $m < n$ ).

79

80 Consequently, we use the notations

$$81 \quad X_I = \{x_i : i \in I\} \subset X \text{ and } X_J = \{x_i : i \in J\} \subset X ,$$

82 where we denote  $J = \mathbb{N}_n \setminus I$ . Similarly, we use the notations  $M_I$  and  $M_J$  are the  
83 subspace of  $H$  spanned by the vectors in  $X_I$  and  $X_J$  respectively. For each  $e \in \mathbb{R}^n$ ,  
84 we also use the notations  $e_I = (e_i : i \in I) \in \mathbb{R}^m$  and  $e_J = (e_i : i \in J) \in \mathbb{R}^{n-m}$  respectively.  
85 We choose  $\|\cdot\|_p : \mathbb{R}^{n-m} \rightarrow \mathbb{R}_+$  is  $l^p$  norm on  $\mathbb{R}^{n-m}$  and define

$$86 \quad E_p = \{e : e \in \mathbb{R}^n : e_I = 0, \|e_J\|_p \leq \varepsilon\},$$

87 where  $\varepsilon$  is some positive number and  $1 \leq p \leq \infty$ . For each  $d \in \mathbb{R}^n$ , we define the  
88 *partial hyperellipse* as follows

$$89 \quad H(d | E_p) := \{x : x \in H, \|x\| \leq 1, Q(x) - d \in E_p\} \quad ,$$

90 (1.6)

91 where  $E_p = \{e : e \in \mathbb{R}^n : e_I = 0, \|e_J\|_p \leq \varepsilon\}$ .

92 Given  $x_0 \in H$ , we want to estimate  $\langle x, x_0 \rangle$  when  $x \in H(d | E_p)$ . That is, data set  
93 contains both accurate and inaccurate data. The best estimator is the *midpoint* of this  
94 interval

$$95 \quad I(x_0, d | E_p) := \{\langle x, x_0 \rangle : x \in H(d | E_p)\}.$$

96 Next let us recall the duality formula for the right hand end point,  $m_+(x_0, d | E_p)$ , of the  
97 uncertainty interval.

98 **Theorem 1.2.** If  $H(d | E_p)$  contains more than one point and  $x_0 \notin M$ , then

$$99 \quad m_+(x_0, d | E_p) = \min\{\|x_0 - Q^T(c)\| + \varepsilon \|c_J\|_q + (d, c) : c \in \mathbb{R}^n\} \quad .$$

100 (1.7)

101

102 Finally, the midpoint is given by

103 
$$m(x_0, d | E_p) = \frac{m_+(x_0, d | E_p) - m_+(x_0, -d | E_p)}{2}.$$

104 Furthermore, if  $X = \{x_j : j \in \mathbb{N}_n\}$  is an *orthonormal* set of vector and the Gram matrix is  
 105 the identity matrix and we have the following for any

106 
$$x(d+e) \in H(d | E_p) \cap M$$

107 
$$x(d+e) = x(d_I) + x(d_J + e_J) \quad \text{and} \quad \|x(d+e)\|^2 = \|x(d_I)\|^2 + \|x(d_J + e_J)\|^2,$$

108 where  $x(d_I) \in H(d_I)$  and  $x(d_J + e_J) \in H(d_J | E_J)$ .

109 Moreover, we observe that  $H(d | E_p) \neq \emptyset$  if and only if

110 
$$\min\{(d_J + c, d_J + c) : c \in \mathbb{R}^{n-m}, \|c\|_p \leq \varepsilon\} \leq 1 - \|x(d_J)\|^2$$

111 (1.8)

112 For  $p = 2$ , we have the following  $H(d | E_2) \neq \emptyset$  if and only if

113 
$$\min\{(d_J + c, d_J + c) : c \in \mathbb{R}^{n-m}, \|c\|_2 \leq \varepsilon\} = \Lambda + \Lambda \sum_{j \in \Pi} \frac{d_j^2}{\Lambda - \varepsilon^2} \leq 1 - \|x(d_J)\|^2,$$

114 where  $\Pi := \{j : d_j = 0, j \in J\}$  and  $\Lambda = \varepsilon^2 - \sqrt{\sum_{i \in J} d_i^2}$ .

115 Summarizing, we point out that if  $\Lambda + \Lambda \sum_{j \in \Pi} \frac{d_j^2}{\Lambda - \varepsilon^2} \leq 1 - \|x(d_J)\|^2$  then  $H(d | E_p) \neq \emptyset$

116 for all  $p \geq 2$ , for more detail information on the theory and proof see Forsythe and Golub  
 117 (1965). For this observation, we then continue our study of this subject by presenting the  
 118 transformation of its material to orthonormal bases in section 2 which includes example.

119

120

121

122 **2. Main Results**

123 We begin this section by assuming that  $X_I = \{x_1, \dots, x_m\}$  and  $X_J = \{x_{m+1}, \dots, x_n\}$   
 124 respectively. Let the vectors in  $X_I \cup X_J$  be orthonormalized according to the Gram-  
 125 Schmidt process yielding  $x_1^*, \dots, x_m^*, x_{m+1}^*, \dots, x_n^*$ . For our purpose, we define

$$126 \quad E_p(A) := \{Ae : e \in E_p\}$$

127 and

$$128 \quad H^*(d^* | E_p(A)) := \{x : \|x\| \leq 1, Rx - d^* \in E_p(A)\}.$$

129 (2.1)

130 Similarly, we point out that for each  $x \in H(d | E_p)$  the condition

$$131 \quad Qx = d + e \text{ is equivalent to } Rx = A(d + e) = d^* + Ae.$$

132 Alternatively, we point out that for each  $x \in H^*(d^* | E_p(A))$

$$133 \quad R_I(x) = d_I^* \text{ and } R_J(x) - d_J^* = A_J e_J,$$

134 where  $\|e_J\|_p \leq \varepsilon$  and the  $n \times m$  matrix  $A_J$  is given by

$$135 \quad A_J = \begin{bmatrix} \beta_{m+1 \ m+1} & 0 & 0 & \cdots & 0 \\ \beta_{m+2 \ m+1} & \beta_{m+2 \ m+2} & 0 & \cdots & 0 \\ \vdots & & & & \vdots \\ \beta_{n \ m+1} & \beta_{n \ m+2} & \beta_{n \ m+3} & \cdots & \beta_{nm} \end{bmatrix}.$$

136 (2.2)

137 In addition, for each  $Ae \in E_p(A)$  the vector  $x^*(d^* + Ae) \in H^*(d^* | E_p(A)) \cap M^*$

138 can be written in the form  $x^*(d^* + Ae) = x^*(d_I^*) + x^*(d_J^* + A_J e_J)$  and

$$139 \quad \|x^*(d^* + Ae)\|^2 = \|x^*(d_I^*)\|^2 + \|x^*(d_J^* + A_J e_J)\|^2,$$

140 (2.3)

141 where the vector  $x^*(d_I^*) \in H^*(d_I^*) := \{x : \|x\| \leq 1, R_I(x) = d_I^*\}$  and

$$142 \quad x^*(d_J^* + A_J e_J) \in H^*(d_J^* | E_p(A_J)) := \{x : \|x\| \leq 1, R_J(x) - d_J^* \in E_p(A_J)\},$$

143 when  $E_p(A_j) = \{A_j c : c \in \mathbb{R}^{n-m} : \|c\|_p \leq \varepsilon\}$ .

144 **Lemma 2.1.**  $H^*(d^* | E_p(A)) \neq \emptyset$  if and only if

$$145 \quad \min \left\{ \left( A_j^{-1} d_j^* + \varepsilon \xi, A_j^T A_j (A_j^{-1} d_j^* + \varepsilon \xi) \right) : \|\xi\|_p \leq 1 \right\} \leq 1 - \|x(d_j^*)\|^2$$

146 (2.4)

147 **Proof.** Let  $x \in H^*(d^* | E_p(A))$ . Then there is  $Ae \in E_p(A)$  such that

$$148 \quad x = x^*(d^* + Ae) = x^*(d_j^*) + x^*(d_j^* + A_j e_j) \in M^*$$

149 and  $\|x^*(d^* + Ae)\|^2 = \|x^*(d_j^*)\|^2 + \|x^*(d_j^* + A_j e)\|^2 \leq 1$ . Next, we observe that

$$150 \quad \|x^*(d_j^* + A_j e)\|^2 = \left( A_j^{-1} d_j^* + \varepsilon \xi, A_j^T A_j (A_j^{-1} d_j^* + \varepsilon \xi) \right).$$

151 Hence,  $\min \left\{ \left( A_j^{-1} d_j^* + \varepsilon \xi, A_j^T A_j (A_j^{-1} d_j^* + \varepsilon \xi) \right) : \|\xi\|_p \leq 1 \right\} \leq 1 - \|x(d_j^*)\|^2$ .

152 Conversely, (2.3) and (2.4) certainly implies  $H^*(d^* | E_p(A)) \neq \emptyset$ .

153 For  $p = 2$ , we describe the solution of the optimization problem appearing in

154 (2.4) as presented in Forsythe and Golub (1965). We begin with the following

155 definition.

156 **Definition 2.2.** Let  $C$  be an  $n \times n$  symmetric matrix and  $d \in \mathbb{R}^n$ . The *spectrum* of the

157 pair  $(C, d)$  is defined to be the set of all real numbers  $\lambda$  for which there exists an  $x \in \mathbb{R}^n$

158 with Euclidean norm one such that

$$159 \quad C(x - d) = \lambda x.$$

160 (2.5)

161 Let  $0 < \lambda_1 \leq \lambda_2 \leq \dots \leq \lambda_{n-m}$  be eigenvalue of  $A_j^T A_j$ ,  $\{u^j : j \in \mathbb{N}_{n-m}\}$  be a corresponding

162 orthonormal set of eigenvector, write the vector  $A_j^{-1} d_j^*$  in the form  $A_j^{-1} d_j^* = \sum_{j \in \mathbb{N}_{n-m}} \gamma_j u^j$  for

163 some constants  $\gamma_j \in \mathbb{R}$  and define the subset  $\Pi$  of  $\mathbb{N}_{n-m}$  by  $\Pi := \{j : \lambda_j \gamma_j = 0\}$ .

164 **Theorem 2.3.** If  $\Lambda$  is the least value in the spectrum of the pair  $\left( \varepsilon^2 A_J^T A_J, \frac{A_J^{-1} d_J^*}{\varepsilon} \right)$

165 then  $H^*(d^* | E_2(A)) \neq \emptyset$  if and only if

$$166 \quad \Lambda + \Lambda \sum_{j \in \Pi} \frac{\lambda_j |\gamma_j|^2}{\Lambda - \varepsilon^2 \lambda_j} \leq 1 - (d_1^*, d_1^*).$$

167 **Proof.** This result is proved in much the same as the paper Khompungson and  
 168 Micchelli (2011) and we refer the reader to the paper Forsythe and Golub (1965) for  
 169 proofs of the solution of the optimization problem.

170 Here is another way of stating (1.7) :  $H(d | E_p) \neq \emptyset$  if and only if

$$171 \quad \Lambda + \Lambda \sum_{j \in \Pi} \frac{\lambda_j |\gamma_j|^2}{\Lambda - \varepsilon^2 \lambda_j} \leq 1 - (d_1^*, d_1^*) \text{ for all } p \geq 2. \text{ Therefore, we establish the new version of}$$

172 theorem 1.2 with the different hypothesis.

173 **Theorem 2.4.** Let  $\Lambda$  be the least value in the spectrum of the pair  $\left( \varepsilon^2 A_J^T A_J, \frac{A_J^{-1} d_J^*}{\varepsilon} \right)$ .

174 If  $\Lambda + \Lambda \sum_{j \in \Pi} \frac{\lambda_j |\gamma_j|^2}{\Lambda - \varepsilon^2 \lambda_j} < 1 - (d_1^*, d_1^*)$  then

$$175 \quad m_+(x_0, d | E_p) = \min \{ \|x_0 - Q^T(c)\| + \varepsilon \|c_J\|_q + (d, c) : c \in \mathbb{R}^n \} ,$$

176 (2.6)

177 where  $\Pi := \{j : \lambda_j \gamma_j = 0\}$ .

178 To this end, let us specialize above results to the problem of function estimation  
 179 in reproducing kernel Hilbert space (RKHS). To this end, we let  $H_K$  be a RKHS of real-  
 180 valued function on a set  $T$ . The real value function  $K(t, s)$  of  $t$  and  $s$  in  $T$  is called a  
 181 *reproducing kernel* of  $H$  if the following property is satisfied for all  $t \in T$  and  $f \in H$

182

$$f(t) = \langle K_t, f \rangle, \quad ,$$

183 (2.7)

184 where  $K_t$  is the function defined for any  $s \in T$  as  $K_t(s) = K(t, s)$ . Moreover, for any  
 185 kernel  $K$  there is unique RKHS with  $K$  as its reproducing kernel. For our computational  
 186 experiment we choose the Hardy space of square integrable function on the unit circle  
 187 with reproducing kernel

188

$$K(z, \zeta) = \frac{1}{1 - \bar{\zeta}z}, \quad \zeta, z \in \Delta$$

189 where the unit disc  $\Delta := \{z : |z| \leq 1\}$ . Specifically, we let  $H^2(\Delta)$  be the set of all functions  
 190 analytic in the unit disc  $\Delta$  with norm

191

$$\|f\| = \sup_{0 < r < 1} \left( \frac{1}{2\pi} \int_0^{2\pi} |f(re^{i\theta})|^2 d\theta \right)^{\frac{1}{2}},$$

192 see Duren (2000).

193 Let  $T = \{t_j : j \in \mathbb{N}_n\}$  be distinct point (increasing order) in  $(-1, 1)$ . Consequently, we have194 a finite set of linearly independent elements  $\{K_{t_j} : j \in \mathbb{N}_n\}$  in  $H$  where we define

195

$$K_{t_j}(t) := \frac{1}{1 - t_j t}, \quad j \in \mathbb{N}_n \text{ and } t \in \Delta.$$

196 According from the section I, the vectors  $\{x_j : j \in \mathbb{N}_n\}$  appearing above are identified197 with the function  $\{K_{t_j} : j \in \mathbb{N}_n\}$ . Therefore, the Gram matrix of the  $\{K_{t_j} : j \in \mathbb{N}_n\}$  is given

198 by

199

$$G(t_1, \dots, t_n) := (K(t_i, t_j) : i, j \in \mathbb{N}_n).$$

200 For this purpose, we recall the Cauchy determinant identity which state that for any

201  $\{t_j : j \in \mathbb{N}_n\}, \{s_j : j \in \mathbb{N}_n\}$  that

202 
$$\det\left(\frac{1}{1-t_i s_j}\right)_{i,j \in \mathbb{N}_n} = \frac{\prod_{1 \leq j < i \leq n} (t_j - t_i)(s_j - s_i)}{\prod_{i,j \in \mathbb{N}_n} (1-t_i s_j)}, \quad (2.8)$$

203 see for example. From this formula we obtain that

204 
$$\det G = \frac{\prod_{1 \leq i < j \leq n} (t_i - t_j)^2}{\prod_{i,j \in \mathbb{N}_n} (1-t_i t_j)}.$$

205 
$$(2.9)$$

206 According from the equation (2.7), the linear operator  $Q: H^2(\Delta) \rightarrow \mathbb{R}^n$  defined for  
 207  $f \in H^2(\Delta)$  as the following way

208 
$$Qf = \left( \langle f, K_i \rangle = f(t_i) : i \in \mathbb{N}_n \right).$$

209 By Gram-Schmidt process and the formula (2.8) and (2.9), we obtain the vector  $K_j^*$  for  
 210 any  $j \in \mathbb{N}_n$ . In particular, the vector  $K_j^*$  is given by the formula

211 
$$K_1^* = \sqrt{1-t_1^2} K_{t_1},$$

212 
$$K_k^* = \sqrt{1-t_k^2} \sum_{l=1}^k (-1)^{k+l} \frac{\prod_{i \in \mathbb{N}_{k-1}} |1-t_l t_i|}{\prod_{\substack{i \in \mathbb{N}_k \\ i \neq l}} |t_l - t_i|} K_{t_l}, \quad (k = 2, 3, \dots, n).$$

213 For any  $d = (d_1, d_2, \dots, d_n) \in \mathbb{R}^n$ , we obtain that the condition

214 
$$Qf = (f(t_i) : i \in \mathbb{N}_n) = d \text{ is equivalent to } Rf = d^*,$$

215 where  $R: H^2(\Delta) \rightarrow \mathbb{R}^n$  is a linear operator  $H^2(\Delta)$  onto  $\mathbb{R}^n$  as  $R(f) = (\langle f, K_j^* \rangle : j \in \mathbb{N}_n)$

216 and

217 
$$d_1^* = \sqrt{1-t_1^2} d_1,$$

218 
$$d_k^* = \sqrt{1-t_k^2} \sum_{l=1}^k (-1)^{k+l} \frac{\prod_{i \in \mathbb{N}_{k-1}} |1-t_i|}{\prod_{\substack{i \in \mathbb{N}_k \\ i \neq l}} |t_l - t_i|} d_l, \quad (k = 2, 3, \dots, n).$$

219 For our example, we choose  $E := \{e : e \in \mathbb{R}^n, e_l = 0, |e_n| \leq \varepsilon\}$  where the set  $I = \{1, 2, \dots, n-1\}$

220 .

221

222 The *partial hyperellipse* becomes

223 
$$H(d | E) := \{f : f \in H^2(\Delta), \|f\| \leq 1, Q_I(f) = d_I, |(Q(f) - d)_n| \leq \varepsilon\}.$$

224 Clearly, we have only one inaccurate data and for any  $f \in H_K$

225 
$$f(t_j) = d_j \text{ for all } j \in \mathbb{N}_{n-1} \text{ and } f(t_n) = d_n + e \text{ where } |e| \leq \varepsilon.$$

226 In this case, the corresponding *partial hyperellipse*  $H(d | E)$  is given by

227 
$$H^*(d^* | E(A)) := \{f : f \in H^2(\Delta), \|f\| \leq 1, R_I(f) = d_I^*, R_n(f) - d_n^* \in A(\varepsilon)\}.$$

228 where  $A(\varepsilon) := \{\beta e : e \in \mathbb{R}, |e| \leq \varepsilon\}$  and  $\beta = \frac{\sqrt{\det G(t_1, \dots, t_{n-1})}}{\det G(t_1, \dots, t_n)} = \sqrt{1-t_n^2} \frac{\prod_{i \in \mathbb{N}_{n-1}} |1-t_n t_i|}{\prod_{i \in \mathbb{N}_{n-1}} |t_n - t_i|}.$

229 Alternatively, we have that  $H^*(d^* | E(A)) \neq \emptyset$  if and only if

230 
$$\min\{(d_n^* + \beta e)^2 : |e| \leq \varepsilon\} \leq 1 - (d_I^*, d_I^*).$$

231 Moreover, we point out that formula

232 
$$\min\{(d_n^* + \beta e)^2 : |e| \leq \varepsilon\} = \begin{cases} 0, & \left| \frac{d_n^*}{\beta} \right| \leq \varepsilon \\ d_n^* + \beta \varepsilon \frac{\hat{e}}{|\hat{e}|}, & \left| \frac{d_n^*}{\beta} \right| > \varepsilon \end{cases}$$

233 where  $\hat{e} = -\frac{d_n^*}{\beta}$ . Therefore, we establish the theorem 1.2 with the following ways.

234 **Theorem 2.5.** Let  $T = \{t_j : j \in \mathbb{N}_n\}$  be distinct point (increasing order) in  $(-1,1)$ ,

235  $t_0 \in (-1,1)$

236 and  $d = (d_1, d_2, \dots, d_n) \in \mathbb{R}^n$ . Then we have the following:

237 1. If  $\left| \frac{d_n^*}{\beta} \right| \leq \varepsilon$  and  $(d_l^*, d_l^*) < 1$  then

$$238 \quad m_+(K_{t_0}, d | E) = \sum_{i \in \mathbb{N}_{n-1}} d_i^* \langle K_{t_i}^*, K_{t_0} \rangle + \frac{|B_l(t_0)|}{\sqrt{1-t_0^2}} \sqrt{1-(d_l^*, d_l^*)},$$

239 where the function  $B_l$  is the rational function defined at  $t \in \mathbb{C} \setminus \{t_j^{-1} : j \in \mathbb{N}_{n-1}\}$  by

$$240 \quad B_l(t) = \prod_{j \in \mathbb{N}_{n-1}} \frac{t-t_j}{1-tt_j}.$$

241 2. If  $\left| \frac{d_n^*}{\beta} \right| > \varepsilon$  and  $d_n^* + \beta \varepsilon \frac{\hat{e}}{|\hat{e}|} < 1 - (d_l^*, d_l^*)$  then

$$242 \quad m_+(K_{t_0}, d | E) = \min \{ \|K_{t_0} - Q(f)\| + \varepsilon |c_n| + (d, c) : c \in \mathbb{R}^n \}.$$

243 Moreover, if  $\frac{K_{t_0}}{\sqrt{1-t_0^2}} \notin H(d | E)$  then

$$244 \quad m_+(K_{t_0}, d | E) = \sum_{i \in \mathbb{N}_{n-1}} d_i^* \langle K_{t_i}^*, K_{t_0} \rangle + d \langle K_{t_n}^*, K_{t_0} \rangle + \frac{|B_l(t_0)|}{\sqrt{1-t_0^2}} \sqrt{1-(d_l^*, d_l^*) - d^2},$$

245 where the value  $d \in \{d_n^* + \beta_m \varepsilon, d_n^* - \beta_m \varepsilon\}$ .

246 **Proof.** See Khompungson, K., & Nammanee K., (2022).

### 247 3. Conclusion

248 In this paper, we improved the results on hypercircle inequality for partially corrupted

249 data. That is, we established a new version of theorem 1.2 with a different hypothesis.

250 In additional, we provide a concrete example for learning problems in reproducing kernel  
251 Hilbert space when there is known only one data error. We also provide an explicit  
252 solution of a dual problem which is useful for practical.

## 253 **Acknowledgments**

254 The author is supported by the National Research Council of Thailand and  
255 University of Phayao under Grant No. RIB64-RIB012.

256

257

## 258 **References**

259 Davis, P. J. (1975). Interpolation and approximation. New York: J Dover Publications.

260 Duren, P. (2000). Theory of  $H^p$  space, Second edition. New York: J Dover

261 Publications.

262 Forsythe, G. E., & Golub, G. H. (1965). On the stationary values of a second-degree

263 polynomial on the unit sphere. Journal of the Society for Industrial and Applied

264 Mathematics, 13(40), 1050–1068.

265 Khompurngson, K., & Nammanee, K., (2022). A note on hypercircle inequality for

266 data error with  $l_1$  norm. Journal of Inequalities and Applications, 87, 1-15.

267 Khompurngson, K., & Micchelli, C.A.(2011). Hide. Jaen Journal on Approximation, 3,

268 87-115.

269 Khompurngson, K., & Novaprateep, B. (2015). Hypercircle inequality for partially

270 corrupted data. Annals of Functional Analysis, 6, 95-108.